7TH CLASS PRELIMS TEST (#103)

7th Class Prelims Test (#103)

Total Marks: 50 Total Duration: 30 minutes

Instructions

Read the instructions provided for every question properly before attempting the answer.
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7TH CLASS PRELIMS TEST (#103)

Section: Maths-Easy

Marks per question: 1
5 of 5 question(s) in this section will be shown to examinee
Examinee should answer all 5 question(s) in this section

Q1. Difficulty Level: Very Easy

ATT0e T3 @D (H0TR), BDODEE DS ?
Who wrote the book ‘Sidhantha Siromani’ ?

e38525€) / Aryabhatta

(20552109 ¢8 /.Bramhaguptha

® 270 T°eds / Bhaskaracharya

D DTSV / P C Mahalanobis

Q2. Difficulty Level: Very Easy

a,ben B B2 HoWEEN oS & (E0d T3S DO DB Ji7es Hows ?

a,b are odd natural numbers then which of the following is an even natural number?

a+b+1
® at+b

ab

ab+2

Q3. Difficulty Level: Very Easy

A ABC &5° AB=AC 208050 ~A= 70° 000 .C=

In A ABC, AB=AC and +A= 70° then .C=
® 559
1100
600
70°
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7TH CLASS PRELIMS TEST (#103)

Q4. Difficulty Level: Very Easy

30 DS 0 TEy AN 800 a/b @ONS b -a =

Simplest form of the fraction % is a/b then the value ofb-a =

Q5. Difficulty Level: Very Easy

1890000000 = 1.89x10” ewond P=_

If 1890000000 = 1.89x10F then find the value of P ?

7
10
® 9
11
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7TH CLASS PRELIMS TEST (#103)

Section: Maths-Moderate

Marks per question: 2
3 of 3 question(s) in this section will be shown to examinee

Examinee should answer all 3 question(s) in this section

Q1. Difficulty Level: Very Easy

8479.256 " 7 TBEy W SDENSID , 5 TNE) FIVENNIE 2PA0DS 3t%0,) 2PHHO0 Ok ?
What is the quotient when the place value of 7 is divided by the place value of 5in 8479.256 ?
140
2800

3500
® 1400

Q2. Difficulty Level: Very Easy

2.8 505 DHOS 1275 & BIBA 3775 S50, @08 DO D0G 2450 3T $5T%0.) DOV DO ?

If 1275 is subtracted from a number, the result is 3775. If 2450 is subtracted from the same number, what is

the resultant value?

5050
® 2600
3500
4000
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7TH CLASS PRELIMS TEST (#103)

Q3. Difficulty Level: Very Easy

BOCK HOWI 0 -621, eI 2.8 DOWS -27 0N & BOCR DOV VB0 DO ?

The product of two numbers is -621. One of the number is -27, then find the sum of the two

Numbers ?

50

23
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7TH CLASS PRELIMS TEST (#103)

Section: Maths-Difficult

Marks per question: 3
2 of 2 question(s) in this section will be shown to examinee
Examinee should answer all 2 question(s) in this section

Q1. Difficulty Level: Very Easy

2.8 H0WS 55% 0GB 55 SIS HODS0 55 5t 900 €8 HoWS Do ?

If 55 is subtracted from 55 percentage of a number, the resultis 55. Find the number?

110
450
® 200
165

Q2. Difficulty Level: Very Easy

N
s
w
(=]

]

W
~

A

x
W
3

108y, D0 I||m oS x +y=___

If I||m, then the value of x +y =

300°
® 2350
2759
1250
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7TH CLASS PRELIMS TEST (#103)

Section: Science-Easy

Marks per question: 1
4 of 4 question(s) in this section will be shown to examinee
Examinee should answer all 4 question(s) in this section

Q1. Difficulty Level: Very Easy

PN HOAN BSe) FAATOS _ e3:00 &0oLnod

Soda water and cool drinks contains acid

coz2
® 58)3F / Carbonic
02

s / Gas

Q2. Difficulty Level: Very Easy

Sr8e)R S° 350 805 Bew AWXIE D

In humans, respiratory rate is____ times per minute
® 14-20
20-30
70-72
10-12
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7TH CLASS PRELIMS TEST (#103)

Q3. Difficulty Level: Very Easy

Bo& 57¢36Y° DOB HTd &AL HOE 0T BTN DD ?

Which of the following are used for carbohydrate testing?

PGS, CuSo4 / lodine, CuSo4

® TVrRS, BIAS / lodine, Benedict
334, NaOH / lodine, NaOH
A5 / None of the above

Q4. Difficulty Level: Very Easy

SVE (23:D0 ) @R DO ~-----mn-- ®D 3 D0 OB SDYoB?
The word acid is the origin of --------- Latin word

(€35 / Citric

ASr& / Acide

® D5 / Acere
DA / None of the above

Page 8 of 19



7TH CLASS PRELIMS TEST (#103)

Section: Science-Moderate

Marks per question: 2
3 of 3 question(s) in this section will be shown to examinee

Examinee should answer all 3 question(s) in this section
Q1. Difficulty Level: Very Easy

R: 52503885 : 3008 e 50
S RNTHD 1 Sr0HEYEen, DOA DT SHO

R: Kwashiorkar : deficiency of proteins
S: Marasmus : deficiency of protein and carbohydrates

® R: D550 S: 0ed50 /R is True, Sis True
R: @0¢8550 s: 0¢550 /R is False, S is True
R: 0¢850 s: @0¢550 / R is False, S is False

R: 0e$50 S: e00¢550 / R is True, S is False

Q2. Difficulty Level: Very Easy

& 808 o3¢S 2206855258 2250 H00E0DIE DE ?
i) @0eS (K0 i) 2SBA% iii ) T°0E iv) HONHGS

Which of the following is a part in Holozoic Nutrition?
i) Ingestion ii) Digestion iii) Absorption iv) Egestion

i, i
i, i, v
i, i, v

® i, i, il v
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7TH CLASS PRELIMS TEST (#103)

. Difficulty Level: Very Easy

e300 BBWEY 468 380 ) BERS IS STt ?

Which of the following motion is an example for the body motion of a snake?

O HEEBDAH 9280 / Rectilinear motion
O (8599 2580 / Rotatory Motion
® HEBDADH w5e350 / Curvilinear motion

—~

O o tder0 / Oscillatory motion
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7TH CLASS PRELIMS TEST (#103)

Section: Science-Difficult

Marks per question: 3
1 of 1 question(s) in this section will be shown to examinee
Examinee should answer all 1 question(s) in this section

Q1. Difficulty Level: Very Easy

10A0E ISRO TE2R oI ?

Who is the chairman of ISRO ?
DE arTrerad / Vikram Sarabhai
3 25Q / K Sivan

HEN e / Sathish Dhavan
® DR FaE / S Somanath
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7TH CLASS PRELIMS TEST (#103)

Section: Social-Easy

Marks per question: 1
3 of 3 question(s) in this section will be shown to examinee
Examinee should answer all 3 question(s) in this section

Q1. Difficulty Level: Very Easy

% 1808 O BS @S5HE B0 @)D To|BEYS0 MAOIDRIH?

In which of the following district most of the land is forested?

® Jr)D 8D / YSR Kadapa
D2330DANB0 /Vijayanagaram
oy / Guntur
\83F / Krishna

Q2. Difficulty Level: Very Easy

&2 (200 30" Q TR TBTAD G 0B TBLIAG & JSrTe)ck ?

Which of the following ruler changed the capital from Delhi to Devagiri?

DEE 2r SIS/ Firoz Shah Tughlag
2re>) / Balban

® 05508 DS ¢S / Mahammad bin Tughlag
2e7enBS DO / Jalaluddin Khili

Page 12 of 19



7TH CLASS PRELIMS TEST (#103)

Q3. Difficulty Level: Very Easy

D), @CESONS0 TR T SR 2PN DD0ETSd ?

In Russian language, the study of universe is called as?
&3 3/ Astronomy
® sreed / Cosmology

?og@*‘ljiib / Spacography
2238 (§2) / Geography
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7TH CLASS PRELIMS TEST (#103)

Section: Social-Moderate

Marks per question: 2
2 of 2 question(s) in this section will be shown to examinee

Examinee should answer all 2 question(s) in this section
Q1. Difficulty Level: Very Easy

TP @R QTS 2.8 HEFQ) PR (ZFPOTP DS PO S5TEIQ), ($eDQ0TTCR. ©ONS ,|ZTPOTO
30855 B 0 e SsErsaren TP B ST° T Sotrn?

A student named Ramu looked at a map and noticed the time difference between the regions on that map.
By what means Ramu found the time differences between the regions?

® Bgr0Fren / Longitudes
e SPOF°e / Latitudes
(A& / Grid
2r0e5s) &8 / The existance of region

Q2. Difficulty Level: Very Easy

) S FOS B0t 8 t0(5E E8)0 & H020690 Eercn?

Colonel Collin Meckenzie is related with which historical monument?

A'e5%,0¢% / Golkonda
08 / Kondaveedu
® 50 / Hampi

2,8009e0 / Orugallu
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7TH CLASS PRELIMS TEST (#103)

Section: Social-Difficult

Marks per question: 3
1 of 1 question(s) in this section will be shown to examinee
Examinee should answer all 1 question(s) in this section

Q1. Difficulty Level: Very Easy

553850, @DIN0 , GNEYB @ Joren & (80 73S B HoDOHODID ?

The words Darisanam, Appanam and Upakruthi are related to which of the following ?

0O Rs5en / Royal Services
e300 dew / Temple Services
® D) ew / Taxes

23 QTreew / Land grants
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7TH CLASS PRELIMS TEST (#103)

Section: GK-Easy

Marks per question: 1
1 of 1 question(s) in this section will be shown to examinee
Examinee should answer all 1 question(s) in this section

Q1. Difficulty Level: Very Easy

2RGHTIE 20D BN S 23068059 A ?

What is the national heritage animal of India ?
® DX / Elephant
DO / Tiger
E)2230% / Black Buck
[0 / Peacock
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7TH CLASS PRELIMS TEST (#103)

Section: GK-Moderate

Marks per question: 2
2 of 2 question(s) in this section will be shown to examinee
Examinee should answer all 2 question(s) in this section

Q1. Difficulty Level: Very Easy

ENT S8 Qencdd € (808 ) 308 2r@mrerdn Qo060 arscherdy D8y Tobiiercs ?

An ENT doctor can treat the following parts of the body?

A) 0] 3080, ,ffodd / Eye,Nose, Throat
B) T, ¢s ,aens / Ear,Neck, Tongue

® ()T, 080),Foed / Ear, Nose, Throat
D) 8&0), 3080, °end / Eye,Nose, Tongue

Q2. Difficulty Level: Very Easy

NEP -2020 ¢5° NEP 330%), 70 & 2)0¢3 ?

What is the full form of NEP, in NEP-2020 ?

2378305 S0\ AODSrSY / National Emblem Protocol
® 22B0H D5 D0 / National Education Policy

DEE s Derdo / Non Employ Policy

Arebed @0 |2PBE / New English Project
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7TH CLASS PRELIMS TEST (#103)

Section: |1Q-Easy

Marks per question: 1
2 of 2 question(s) in this section will be shown to examinee
Examinee should answer all 2 question(s) in this section

Q1. Difficulty Level: Very Easy

2.8 (HB5E F& 270" 'PARROT’ & 123345 10 s0O050 ‘'SOAT' & ‘6425’ TP (3° R ‘ROAST' &
eI (RS0 ?

In a certain code language 'PARROT" is written as '123345" and 'SOAT' is written as ‘6425’ then how would
‘ROAST' be written in that code?

34625
32564
32456
® 34265

Q2. Difficulty Level: Very Easy

A+ A+6 =420 080506 -A =90 @003 O e DO ?

IfA+A+©=420and © - A = 90 then what is the value of 8 ?
110
® 200

90
120
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7TH CLASS PRELIMS TEST (#103)

Section: 1Q-Difficult

Marks per question: 3
1 of 1 question(s) in this section will be shown to examinee
Examinee should answer all 1 question(s) in this section

Q1. Difficulty Level: Very Easy

SCHOOL 3Bw&) De3 oo Hdododk.

Identify the water image of 'SCHOOL'

2CHOOL
LOOHCS
® 2CHOOr
2DHOOr
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